&k 4

&R - B FAESHEIEY AT L FIARE o
1 AT LI

(1) BRI F| B{E% (Bif: B)

w B 365 365 365

S AT LFAESD 152 161 169

S AT LFAERU 213 204 196

100% P e e
P EOER Ay I ¥ w v PRy
90% P i A )
R PR R R
800/ i s i e
0 LAY AL, At A,
o] CEEEy Sy [ g‘§,‘-,‘-,‘-,‘-
70% S G 204 '/}"/2;/.-" ey
B R P, R £ N FRE
60% A o i
.'),-'/.').').').?.?.?.?.5/' L ) B R
50% . | oyasammsL
= ~ —
40% - BRTLIAHY
30% -
20% -
10% -
0% -

H28 H29 H30


19890316
テキストボックス


(2) F AH#

PRk 2 SFEEERK2 OFE| /K3 0FE =F1}
EEFEIVTILT—Y3Y 103 110 121 334
ML R 18 16 15 49
FEBRRRS2
A R 107 112 132 351
Z D 8 6 9 23
=] 236 244 277 757
300
9 ZDfth
250 IS R fEszss (=]
() *ﬁ?ﬂaiﬂ%[‘nxn/ A BJ'E
; ERERES A X
200 132 —= — <
SBEIVTIT—Y3Y
107 112
. - rZ 0 (FS R L TR —R RS E) 1028 0 4 E FEEA D EE KR
100 TR 2 SEE|TM2 OFE[ERI0FE Bt
50 103 110 121 2 ODDLBRIETI Y HIL 1 3 ) 4
2 DD L BHEIRIC AR (o) 0 1 1
o b b EEEEEEe T
T2 8EE T2 9EE TR 0EE = e ¢ .3 )8 . o
2 D DEBHERERIT — Xt idD 1 0 0 1




(3) A A F R

35
30
25
20
15
10

(BEAL:14)

8 A

9AH

10R

-—4--H28 —m—H29

H28 H29 H30
48 23 23 21
58 27 25 18
68 13 22 24
78 11 18 20
88 20 24 21
98 12 19 31
108 27 18 28
11H 25 18 28
128 16 13 22
1H 22 14 27
28 15 21 15
38 25 29 22
& & 236 244 277

g \\ 1\-/ /.~




2 BHEXERR ZXMEEREE O
() EHEXERRmERR (SHEXERBRER:19)

(BE{L:[m])
I3 H28FE H29%E H30EE

______ sfFE . | 23 4 26 | 34
______ == @O |20 ... 23 |22
______ Xxan 2 | 76 | B2 | 45
______ 9N 2 | 34 | 36 | 32
______ mJN 4 | es5 79 | 56
______ k" Q) |, O 4 O | O
______ BH 2 | 187 | 202 | 191
RN (5) 490 554 471

st (19) 895 972 851
600
500
400
300
200
100 II
0 m - - .. [ § | I.

Zg Q@ =B 1) dAA (20 AR () FEAIA () KBRT( 2 =M (B

H284EE mH29EE mHI0EE



(2) ZRMBEBRHEEF O AR (ZREREH)

H28 H29 H30
¥ FEmbe sk B fmbesy| FIAEIE P AR BiEmks| FIAEE |F ARk BEmRS FIREE
EHe 8 22 36% 7 21 33% 7 21 33%
=5 5 19 26% 8 19 42% 6 19 32%
| S| 10 38 26% 13 37 35% 11 37 30%
==pr vy 7 18 39% 7 17 41% 7 17 41%
AN 4 20 20% 6 20 30% 8 19 42%
KB 31 93 33% 27 94 29% 24 93 26%
®Rh 6 20 30% 6 20 30% 7 21 33%
R 8 24 33% 7 23 30% 9 24 38%
A5 79 254 31% 81 251 32% 79 251 31%
AR - JE RS ZfR< — e EEKEZD
BigmsiRil | FERIFROMBE RARIRED SFEBRYBRIRZRVVZE | FFJIEI%I(HE’:O)
H30
35 1[0 30
30 20 16
3[0 7
25 4[g] 4
20 5[0 9
15 60 4
8(o] 1
0 o 1
mhdm al
0 120 2
Bae JeiaIA == 7S FATA KB b ] SR 13(0 1
. 14[0 1
H2 8 I mkE  ™H2 9 FIAmRE "™H3 o Rk 19@ 1
= 79




(3) EEHER RIS AT LFIR - o2 (Z REFRE R

160
140
120
100
80
60
40
20

H28 H29 H30
ZRBE aﬁﬁ —RA éﬁﬁ ZRE éﬁﬁ
Vil X EmEbk Vil X EER Vil X iEmbR
_______ =g | 19 | 10 | 2 | 4 | 23 | 14
=5 1 21 o3 18 A D S I [
e 31 31 42 18 .21 [
AN 28 R 22 S b2 8
EAIN| S ol 16 11 o - S 12
CRBRTH | N 1.0 [ O .78 o
_______ ¥m | 20 | 67 | 3 | 66 | 38 | 8
R 22 104 23 130 40 147
& i 236 236 244 244 277 277
<Fl Fr> "
H R4 21 <3t s 24>

160

140

120

100

80

60

40 II
it 1 Il |||| SOR R | TR
g =B daA DA BRI KR Bw =B L =B dMN diE[A ERIA KBR™ R

BH28 — kA

Al F

Al F

H29 —Xfha

Al F

EH30 ZXRHMa

mH28 & HHE
TR

mH29 & HHE
TRk

H30 & #HE
FiERbT

SR



(4) #iiE TT EE J (Z RERE R

i X 5% W PBx B XIgAOME

Rk 3 0FE | | | | | | | |
= ZHE =B ACTR IR IR RIS R RN | R | #88

[
Y
(aYay
H
o
o
o
o
o
l—\
IS
o
l—\
H
3
>

ST 3o | 2

X
o

=he
ci>
aul
_|_
|_\
N
w O




3 BEDIK
(1) 151 - AR AER

H28 H29 H30
FK Bl | &t | A | S5 | B | X% | | &5 | B4 | XMt | A | &8
.................. o€ | 5 |12 |0 |17 | 4 | 10| 1 |15 ] 4 | 9 | 0 | 13
204X 7 24 | 0 31 | 13 | 34 | 0 47 | 19 | 46 0 65
R e O R R R R ol o R
_________________ o Tl olaloalmtotloalelalolw
R P R R R Rl Rer ot Bt S Rt o R
60k | 13|10 0 | 23|14 |12 | 0 |26 |9 | 7 | 0|16
Tk | 11 1.4 | 0 | 15 111 | 7] 0 | 18 | 11 | 8 .. 0 | 19
sk | 2 | 3 1. 0 | . S | 4 1. 1] 0 | S 1. T 6 1. 0 | 13 .
%ok 0 | . 1.1 0 | . 1 1. 0 | . 1.1 0 | 11 1ol 0 1. 0 1. 1.
Z~BH 4 5 8 17 0 3 6 9 3 1 8 12
=1 105 | 123 | 8 | 236 | 98 | 139 | 7 | 244 | 125 | 144 | 8 | 277
50 50
s ERBI(H) - ERBI (L)
40 40
35 35
30 30
25 25
20 20
15 | | | 15
10 10
I O
, I LN B Ll o .

10f% 206 30/t 40t SOFL BOft 70fL BOft SOt FE3 10/t 204t 30ft 40k 50k 60K TOK 8OF 00fk B

EH28 mH29 mH30 mH28 mH29 mH30



) FHMRZEFLZZE DHFMHER

A
I3
¥

A DFEHIEIR>

3372 =/N
<ZTREOHE>
H28 H29 H30
»H Y 100 109 105
L 34 48 38
N 102 87 134
& i 236 244 277
100%
90%
7
o 102 ; 134
70%
60% Al et
................................. DZ:EE
0, B O R
40% G a5 U
30%
20% 100 e 105
10%
0%
H28 H29 H30

H28 H29 H30 =1
SHEE 21 26 23 70
HEfm 2 3 3 8
(TN A 9 6 8 23
KR 19 18 20 57
=8 18 17 25 60
Bk 10 5 9 24
FETH 6 7 17 30
FZE 28 21 39 88
FAEL 8 9 7 24
5 2 2 3 7
5> 33 35 48 116
TR-E1g 18 24 29 71
BHLR 8 4 1 13
INZ O FIE 5 10 2 17
MER[EE 15 11 17 43
BE 1 0 0 1
ER 4 2 7 13
Bi{itE 29 31 43 103
BERSE 29 27 45 101
RERE 23 18 28 69
B85 11 13 15 39
Zh 9 4 12 25
2 ERIR 0 0 1 1
) 1 0 1 2
2l1EF 0 2 0 2
ZDith 8 8 5 21




(B)EEFNHE

H28 H29 H30 (=L
o10) 83 87 104 274
ANV 153 157 173 483
a5 236 244 277 757
FE R r8EEHY] HHl-FRKAAER

n=271* Bif.87 &4:184

0, o —_ >
1o Mo o 70 *MR - FEREBITTBADAEZDZLS
90% 64
80% e e 60 Z
e e fe
70%
50
60% e A 7
e e 40 7 -
50%
]
40% e A 30 z 7 23 23
30% - . /
0 20 7 7
13 13
20% o 4 1010
10 6 I I 7 6 6
10% s fe e I ﬁ 4 2 1 2
H28 H29 H30 104t 201% 301% 501X 601 701% 801 901K BH

nHY @EEL RN axl



(4)ZZHEREAIRRRE
(ZREZRDEMERA)

A H28 H29 H30 =kl
FO ERitzaCHEERAEE 000 | 12 | 13 22 | 41
F1 RAERAYEERAICLORMRVTHOEE | 18 | 27 | 6 | 61
F2 \aRE. #ERAEEELSLURBIERE | 21 | 8 | 26 | o
e D 39 | 3 | SR 131
FA wfgpesFs 000 1 1 ] 8 | 17 | S0
F5 EEpEEF 0 2 I o { 3
F6 BADA—YF)T4BLMTBORE | 4 1 S | 2 | 1
F7 meglgs 3 | o | o { 3
F8 LDEMEZEOEE U I 3 .. 4
ZF Dt 5 8 6 19

a5 & 125 128 147 400

(ZE2BD ABRRE)
100%

H28 | H29 |H30 |&&F| | & o =
,,,,,,,, ERREAR | 60 | 77 | 89 |206| 0 o= 0
............... EAk | 22 | 16 | 18 | 56 | B RARE

ﬁ_t%ﬁ)\ﬂﬁ_: 25 19 o5 | 69 '''''' - 60 " 89 ERGEAR
= 107 | 112 | 132 | 351 0% "
H28 H29 H30




(5) Ale—ERI1&DERIFD IR

H28 H29 H30 B §

EEIREALR 60 57 68 185
AR e} 13 12 34
Fa BRI &R 3 5 1 9
3R B /\ERfR 1 0 1 2
WETTRENE E LSRR 2 3 1 6
ToD @Rt [C ERb 1 0 1 2
DS IAERYEREN 1 2 4 7
BB EM 28 31 41 100
4 2 0 2 4
Z Dt 0] 1 1 2

& 3 107 112 132 351

<H30 ExIRMER> | | TOM
% 1%
gEEl|
31%
o S EREREA
3%
ERIRH AR
JT D&M St | Z Rl 51%

1%

o= STmbEA~ b E LERRE

1%

SR BAEGRT
1%

4

FE Rl EEAR
1% 9%

12



4 RTLSERAKR
(1) B DEAIKR

BRR1L - [HE-KABREEESHEXECATLRA (Z2)KEE)
B2 - TBKARERRERERD—N
BH3 - [HBHEREANEGRTHSSEANDREE]

OIZZEID>BIHRXEMHY IDEE

H28 H29 H30
SHE | REHUYD | BBRE | EHHYD | ZBRE ELHYD
(125) ~ #& (128)  #& (147  #&
HR1EHE 11 8% 116  91% 131 8%
HR2dE 112 90 115 90k 132 ook
EEacP-INE ] 109 87 114 90k 126 86




(2) — BB EDIR—NERRKR

E;TREHY JERAEL
300
H28 H29 H30 250
200
/EFH 37) l’) 50 32 12 150 = = 205
sERTL 186 212 205 100
& 236 244 2| =— ==
H28 H29 H30
() WEAE
TRk 2 SHE | T2 OFE | K3 0FE &5t
SEBHEEX 86 83 78 247
DI — - BRASEF 21 22 42 85
SRR B EE 18 23 27 68
8 &t 125 128 147 400

14



(AMKRFENZ AN BEIRADE TORHE (H30)

250
S 30 IR DR (FE$8) n=212
200 =
: B 70
150 0% 60 0%
B TILOH 50 BOVHYILDH
— = . —>
40
30
[ 20
&;& %23%\ &\/ @@ 10 m
> e & ®©
K%?? 0
qg?s 5HLIA 5~10% 10~15% 15~20% 20~30%
AT EZ B aUHILDH -0 INET
55 LN 30 35 65
5~10% 35 29 64
10~15% 24 17 41
15~20%7 8 10 18
20~30% 8 16 24
30~ 15 11 20 31
1B5RE ~ 1R 3 13 16
1 B8 3 ~ 20% R 1 4 5
2 F5iE ~ 2R 0 2 2
285 4 ~ 3/ 0 0 0
SRFRE ~ 0 1 1
Z D1t 1 0 1
HaET * 121 147 268

15





